

$$\begin{aligned} &\mathbb{C} \supset \mathfrak{h} \\ \mathfrak{h} \supset K_r^R &= \left\{ \begin{array}{l} z \in {}^0\mathbb{C}^{\leq R} \\ \overline{z - \mathbb{C} \mathfrak{L} \mathfrak{h}} \geq r \end{array} \right. \quad \text{comp} \\ \bar{\mathbb{C}} \mathfrak{L} \mathfrak{h} \subset \bar{\mathbb{C}} \mathfrak{L} K_r^R &= \mathbb{C} \mathfrak{L} {}^0\mathbb{C}^{\leq R} \cup \left\{ \begin{array}{l} z \in \mathbb{C} \\ \overline{z - \mathbb{C} \mathfrak{L} \mathfrak{h}} < r \end{array} \right. \\ \bigwedge_{\text{comp}} \underbrace{\bar{\mathbb{C}} \mathfrak{L} K_r^R} \vee \underbrace{\bar{\mathbb{C}} \mathfrak{L} \mathfrak{h}} &\subset \underbrace{\bar{\mathbb{C}} \mathfrak{L} K_r^R} \\ \underbrace{\bar{\mathbb{C}} \mathfrak{L} K_r^R}_{\mathfrak{E}} \supset \underbrace{\bar{\mathbb{C}} \mathfrak{L} K_r^R}_{\infty} \vee \underbrace{\bar{\mathbb{C}} \mathfrak{L} K_r^R}_{\mathfrak{E}} &\supset \bar{\mathbb{C}} \mathfrak{L} {}^0\mathbb{C}^{\leq R} \\ \underbrace{\bar{\mathbb{C}} \mathfrak{L} K_r^R}_{\neq} \neq \underbrace{\bar{\mathbb{C}} \mathfrak{L} K_r^R}_{\infty} \Rightarrow \underbrace{\bar{\mathbb{C}} \mathfrak{L} K_r^R}_{\infty} \subset {}^0\mathbb{C}^{\leq R} &\Rightarrow \bigvee z \in \underbrace{\bar{\mathbb{C}} \mathfrak{L} K_r^R}_{\infty} : \quad \overline{z - \mathbb{C} \mathfrak{L} \mathfrak{h}} < r \\ \Rightarrow \bigvee_w \overline{z - w} < r \Rightarrow z \in {}^w\mathbb{C}^{\leq r} \subset \bar{\mathbb{C}} \mathfrak{L} K_r^R &\Rightarrow {}^w\mathbb{C}^{\leq r} \subset \underbrace{\bar{\mathbb{C}} \mathfrak{L} K_r^R}_z \Rightarrow \underbrace{\bar{\mathbb{C}} \mathfrak{L} \mathfrak{h}}_w \subset \underbrace{\bar{\mathbb{C}} \mathfrak{L} K_r^R}_z \end{aligned}$$

$$\mathbb{C} \supset \mathfrak{h} \quad \supset_{\text{discrete}} \quad P \ni p \curvearrowright m_p \geq 1 \Rightarrow \bigvee \left\{ \begin{array}{l} \gamma \in \mathfrak{h} \mathop{\triangleleft}\limits_m \mathbb{C} \cap \mathfrak{h} \mathop{\mathfrak{L}}\limits P \mathop{\triangleleft}\limits_{\omega} \mathbb{C} \\ \deg_p \gamma - \sum_{1 \leq j \leq m_p} \frac{A_p^j}{(z-p)^j} \geq 0 \text{ hol um } p \in P \end{array} \right.$$

$$\mathfrak{h} \supset K_n = K_{1/n}^n = \left\{ \begin{array}{l} \overline{z} \leq n \\ \overline{z - \mathbb{C} \mathfrak{L} \mathfrak{h}} \geq 1/n \end{array} \right. \quad \text{cpt} \Rightarrow K_n \subset \overline{K_{n+1}} : \quad \mathfrak{h} = \bigcup_{n \geq 1} K_n : \quad K_0 = \emptyset$$

$$P_n = P \cap \overline{K_{n+1} \mathfrak{L} K_n} \text{ fin} \Rightarrow \mathfrak{V}^n = \sum_p^{P_n} \sum_{1 \leq j \leq m_p} \frac{A_p^j}{(z-p)^j} \in \bar{\mathbb{C}} \mathop{\triangleleft}\limits_m^{P_n} \mathbb{C} \Rightarrow \mathfrak{V}^n \in K_n \mathop{\triangleleft}\limits_{\omega} \mathbb{C}$$

$$\bar{\mathbb{C}} \mathfrak{L} K_n \quad \supset_{\text{meets every comp}} \quad \bar{\mathbb{C}} \mathfrak{L} \mathfrak{h} \quad \Rightarrow_{\text{cRUN}} \quad \bigvee \left\{ \begin{array}{l} \mathfrak{V}^n \in \bar{\mathbb{C}} \mathop{\triangleleft}\limits_m^{\bar{\mathbb{C}} \mathfrak{L} \mathfrak{h}} \mathbb{C} \\ K_n \overline{\mathfrak{V}^n - \mathfrak{V}^n} \leq 2^{-n} \end{array} \right.$$

$$\gamma = \sum_n^{\mathbb{N}} \overline{\mathfrak{U}^n - \mathfrak{V}^n} \in \mathfrak{H} \mathbin{\lhd} P \mathbin{\lhd}_{\omega} \mathbb{C}$$

$$\mathfrak{H} \mathbin{\lhd} P \supset K \text{ comp} \Rightarrow \bigvee_m K \subset K_m \Rightarrow \bigwedge_{n \geq m} \overset{K}{\overline{\mathfrak{U}^n - \mathfrak{V}^n}} \leq \overset{K_n}{\overline{\mathfrak{U}^n - \mathfrak{V}^n}} \leq 2^{-n}$$

$$\Rightarrow \gamma \stackrel{\text{glm}}{\notin}_K \sum_n^{\mathbb{N}} \overline{\mathfrak{U}^n - \mathfrak{V}^n} \Rightarrow \gamma \stackrel{\text{comp}}{\notin}_{\mathfrak{H} \mathbin{\lhd} P} \sum_n^{\mathbb{N}} \overline{\mathfrak{U}^n - \mathfrak{V}^n} \in \mathfrak{H} \mathbin{\lhd} P \mathbin{\lhd}_{\omega} \mathbb{C}$$

$$P \ni o \Rightarrow \bigvee_{r > 0} {}^o\mathbb{C}^{\leq r} \cap P = o \Rightarrow \bigvee_m o \in K_m \mathbin{\lhd} K_{m-1}$$

$$\begin{aligned} \Rightarrow \gamma - \sum_{1 \leq j \leq m_o} \frac{A_o^j}{(z-o)^j} &= \sum_n^{\mathbb{N}} \underbrace{\sum_p^{P_n} \sum_{1 \leq j \leq m_p} \frac{A_p^j}{(z-p)^j} - \mathfrak{V}^n}_{} - \sum_{1 \leq j \leq m_o} \frac{A_o^j}{(z-o)^j} \\ &= \sum_{n \neq m} \underbrace{\sum_p^{P_n} \sum_{1 \leq j \leq m_p} \frac{A_p^j}{(z-p)^j} - \mathfrak{V}^n}_{} + \underbrace{\sum_{o \neq p \in P_m} \sum_{1 \leq j \leq m_p} \frac{A_p^j}{(z-p)^j} - \mathfrak{V}^m}_{} \in {}^o\mathbb{C}^{\leq r} \mathbin{\lhd}_{\omega} \mathbb{C} \\ \Rightarrow \deg_o \gamma - \sum_{1 \leq j \leq m_o} \frac{A_o^j}{(z-o)^j} &\geq 0 \Rightarrow \gamma \in \mathfrak{H} \mathbin{\lhd}_m \mathbb{C} \end{aligned}$$